3C3 - Estimate the answer to a calculation and use inverse operations to check answers

491 + 208

Which is the best calculation to estimate the answer?

500 + 200 400 + 200 49 + 20 493 + 206

428 + 62

Which is the best calculation to estimate the answer?

420 + 70 400 + 0 430 + 60 428 + 61

468 - 32

Which is the best calculation to estimate the answer?

781 - 278

478 - 31 460 - 40 470 - 30 500 - 0 What is a good estimate of the answer.
400 700 500 600
83 - 39 = 44 428 - 39 = 389

Which calculation would you do to check the answer is
correct?

100 - 44 ) 44 -39 44 + 39 83 + 44

Which calculation would you do to check the answer is
correct?

389 - 39 428 + 39 389 + 39 1000 - 389




